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Assume the half life of the first order decay of radioactive isotope takes about 1 year (365 days). How long will it take the
radioactivity of that isotope to decay by 60%?
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‘Write the rate of reaction in terms of the rate of disappearance of reactant and the rate of formation of products:
 NO(g) + 039 =+ NOy(y) +Os(5)
b. 2Cy Hg(g) +T04(g) — 4COq(g) +6 H20 ag)
¢ Hyg + Iy — 2HI(,
d.40H g + HzS5(g) — SO2(9) +2H20(ag) + Ha(y)
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Determine the value of the rate constant for the elementary reaction:
Ip(g) + Ha(g) — 2HI(ag)

given that when [Br,] is 0.15 M and [H,] is 0.2M, the rate of reaction is 0.005 M slat298 K.
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Given the rate of the third order reaction:
A+B+C—P
is 0.05 Ms™

If the [A] = 0.05 M, [B] = 0.01M, and [C] = 0.25M. What is the third order rate constant?
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‘What are the units of the rate constant for a second-order reaction?
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Calculate the fraction of the starting quantity of A that will be used up after 60 s. Given the reaction below which is found to be the
first order in A and t1/, =40 s

A B+C (9.E.4)
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Given the first order reaction is completed 90% in 30 mins at 298 K. Calculate the rate constant.




